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19. When a good is taxed, the tax revenue collected by the government equals the decrease in the welfare of]

buyers and sellers caused by the tax. -

20. The equilibrium of supply and demand in a market maximizes the total benefits to buyers and sellers of]

participating in that market.
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1) The supply curve for a competitive firm is

A) its entire MC curve. B) the upward-sloping portion of its MC curve.
C) its MC curve above the minimum point of the AVC curve.

D) its MC curve above the minimum point of the ATC curve.

E) its MR curve.

2) A firm's producer surplus equals its economic profit when

A) average variable costs are minimized. B) average fixed costs are minimized.
C) marginal costs equal marginal revenue. D) fixed costs are zero.

E) total revenues equal total variable costs.
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3) In long-run competitive equilibrium, a firm that owns factors of production will have an
A) economic profit = $0 and accounting profit > $0.

B) economic profit > $0 and accounting profit = $0.

C) economic and accounting profit = $0.

D) economic and accounting profit > $0.

E) economic and accounting profit can take any value.

4) The long-run supply curve in a constant-cost industry is linear and
A) upward-sloping. B) downward-sloping.

C) horizontal. D) vertical.

E) could have any constant slope.

5) An effective price ceiling causes a loss of

A) producer surplus for certain and possibly consumer surplus as well.
B) consumer surplus only.

C) producer surplus only.

D) consumer surplus for certain and possibly producer surplus as well.
E) neither producer nor consumer surplus.

6) Suppose the market supply curve is upward sloping and market demand is perfectly inelastic. If the
market price is held above the equilibrium level, which of the following statements about the resulting
outcome is not true?

A) The decrease in consumer surplus is fully captured by the producers.

B) There will be an excess quantity supplied.

C) Quantity demanded will remain the same.

D) Quantity demanded will decline.

7) A minimum wage policy induces an:
A) excess demand for labor.

B) excess supply of labor.

C) efficient market outcome.

D) elastic labor supply response.

8) What is the difference between a price support and a price floor?

A) A price support is below equilibrium; a price floor is above it.

B) A price support is above equilibrium; a price floor is below it.

C) Government buys the excess supply to maintain a price floor, but not a price support.

D) Government buys the excess supply to maintain a price support, but not for a price floor.
E) There is no difference between the two.

9) Compared to a tariff, an import quota, which restricts imports to the same amount as the tariff, will leave
the country as a whole

A) worse off than a comparable tariff. B) not as bad off as a comparable tariff.

C) about the same as a comparable tariff. D) Any of the above can be true.

10) Which of the following statements about natural monopolies is true?

A) Natural monopolies are only found in the markets for natural resources (like crude oil and coal).
B) For natural monopolies, marginal cost is always below average cost.

C) For natural monopolies, average cost is always increasing.

D) Natural monopolies cannot be regulated.
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